B|AOE] 2BV a=TruRbr N —FEKRE AREH

BAfE R SERS14E1H26 H HiE B %
15 = S oV a7 NI 1
HRERHELR R % e

WMEBRE INFEE BTHE FEBMRE % AT A

NO K v FAE ZENE Bt & IEE A A (i A VN JIEAT
/N N S ) 6 2 0:7:13.4
= W f@E £ 6 1 0:7:03.4

1 AN mEKER 6 3 EMEXC A 0:7:38.7 0:21:55.5 bi
- = 6 1 0:6:54. 3
R E R 5 2 0:8:01.7

5 = H L 5 3 HUAREEXC A 0:7:24. 4 0:22:20. 4 2
bR O e 2
& K #r 6 1 0:7:14.9
+ I | £ 6 2 0:7:54.3

6 oW & B 5 3 EMEXC B 0:8:19.4 0:23:28. 6 3
X K E O 6 2 0:8:12.5
KA A 5 1 0:7:28.9

3 B & 5 3 FDIRXC 0:8:09.9 0:23:51.3 4
(W& B =/ = 5

W o T



B|AOE] 2BV a=TruRbr N —FEKRE AREH

BAfE R “FR314E1H 26 itk &
BikEER xR
IR RMRE R OR
MEBE NFEE BE REFS PR R HOAT
NO K 4 A EIA 31 & e HRtZ A A JNEAT
S NI - N 6 3 0:7:53.3
E N S S 6
9 /NI 3 = 6 2 4 JFRXC 0:8:53. 4 0:24:15.6 5
ESI /= B 6
4 M 2 & 6 1 0:7:28.9
AT/ R ) 6 1 0:7:40.5
W B KRR 6 3 0:8:32.9
8 o H ;) 6 2 FNFESS 0:8:19. 1 0:24:32.5 6
Moo mE R 4
ST S ST /N 5 1 0:7:48.4
N/ S T I N 5 2 0:8:15
7 oo = 6 S - HOBXC 0:24:34.0 7
A H H 6 3 0:8:30.5
ol & A 6 1 0:7:32.2
EE I A T R S 5 2 0:9:21.2
13 E B K # 6 3 FEAEXC A 0:8:07. 7 0:25:01. 1 8
wroE 3
moOH BER 3

fn
Fn

W o T



B|AOE] 2BV a=TruRbr N —FEKRE AREH

W o T

PAfE R OPAR314E1H 26 gt 5
BikEER xR
IR RMRE R OR
REEBRE NFEE B EHRE % Al
NO K %4 A EIA 31 & e HRtZ A A JNEAT
e B 4 1 0:8:20.0
MW Ak 5 2 0:8:51.9
2 i R & 5 3 HJIXC A 0:8:11.9 0:25:23.8 9
oA OB 4
#W "5 F & 5
NP R E 5 3 0:8:57.3
10 OB L Rk 4 2 FEIRXC C 0:8:39. 6 0:25:26. 9 10
Iy A ¥R 4 1 0:7:50.0
DA A AR e 4 1 0:9:01. 1
N B & 3 2 0:9:49. 2
14 it B OB X 5 3 HAHEEXC B 0:7:55.2 0:26:45.5 11
(/= N 2
£ ® ® M 6 1 0:8:40. 4
# Ol B X 5 2 0:8:54. 8
12 X B M B 4 3 4 FXC 0:9:28.5 0:27:03.7 12
% H =+ 4
KoH L ME 4




BAOE] BETVa=TI/uRbr M) —MERE AXEHE
BRMER  PRk314E1 A 26 A Bl &
BikEER xR
IR RMRE R OR
WMEBRE INFEE BTHE FEBMRE %A
NO K %4 A EIA 31 & e HRtZ A A JNEAT
JiooH o E 3
oo PREORER 4 2 0:8:58. 4
11 AR W 2k 4 1 JEAGALEFXC 0:8:26.6 0:27:19. 1 13
P NI =2 4 3 0:9:54. 1
H oK B OE 4 1 0:8:23.9
B OH % = 4 3 0:9:34. 0
15 = B0 B 4 2 FESEXC B 0:10:07.5 0:28:05. 4 14
BOH & W 3
/N s 3
H AR 55 5
5NOF E 4 1 0:9:28.3
4 IE O CED 4 2 HJIIXC B 0:12:34. 4 0:32:38.9 15
w O kA 4 3 0:10:36. 2

fn
Fn

W o T



BAOE] BETVa=TI/uRbr M) —MERE AXEHE
PAfE R OPAR314E1H 26 Bl &
BikEER xR
IR RMRE R OR
REEBRE PNEE LT FEBRE R A
NO K 4 AR JEIA 31 J== e HRtZ A A JNEAT
BB X 6 3 0:7:12.3
& HOE T 6 2 0:7:36.0
29 & R 3 1 EH - HOBXC 0:8:08.5 0:22:56. 8 1
Mok W OB 4
woE W N 6 1 0:7:10.2
Y A 6 2 0:7:58.9
27 = B g F 6 3 FrOIRXC 0:7:51. 1 0:23:00. 2 2
X H FERR 5
[ =N 6 2 0:7:39.3
N = ) 6 3 0:7:58. 1
21 A R = R 1 4 1 EIRXC A 0:7:50.0 0:23:27. 4 3
i B T 1 0:7:55
OB oM = 4 2 0:9:29. 4
24 KRR &= 3 FEMRXC B 0:9:22 0:26:47. 4 4

fn
Fn

W o T



BAOE] BETVa=TI/uRbr M) —MERE AXEHE
Bt B SFRR314E1H 26 A itk &
BikEER xR
IR AR R %
MEHESE NFEE KT REFS PR R HOAi
NO K 4 A EIA 31 J== e HRtZ A A JNEAT
¥ H fill 3
N HY 4 3 0:10:26. 2
22 AN RhOBE 5 1 JERALEXC 0:7:46.6 0:27:09.3 5
o W AR 5 2 0:8:56.5
fE B 3
% o ow Ak 6
o & & 6 2 0:9:07.3
25 (O N V- 6 3 4 7FXC 0:10:02. 4 0:28:00. 2 6
LSRN I 3 1 0:8:50.5
S QI SO 3
I [ 1% 5 1 0:8:19.3
2N NV N 72 5 2 0:9:05. 6
26 7R % 3 HJIIXC 0:28:06. 3 7
oA 3 3 0:10:41. 4
E EH OB 2
ol B 6 1 0:9:47.2
/A N 6 3 0:10:21. 1
28 AT ¥x T 6 FEARXC 0:30:44. 2 8
ETI NI O RG 3 2 0:10:35.9
moF A R 3

fn
HE
Fn

W o T



BA0E] 2ETV =T r7uXbr ) —FfERE AXETE
BAfE R SERS14E1H26 H ESZ TRV % &
mkZEER ek
AR R R K HE
BB NS4 R MBGRE % A
NO K 4 AR 31 & [BIEE  A BREZ A A JIEASE
moA EF 6 0:7:44. 4
# H <5H&h 6 N
23 73 A 5 (;?_%7%?/) 0:9:40.5 0:26:37.7
wmoH BT 4
moA E R 4 0:9:12.8
moA E R 4
moA B2 3 0:8:22.6
30 X 5 17 4 (;”_%788/) 0:28:38. 4
Mmoo ek A 0:9:56. 1
oA KM 0:10:19.7

W o T



BAOE] BETVa=TI/uRbr M) —MERE AXEHE
BAfE R SERS14E1H26 H itk &
BikEER xR
IR RMRE R OR
WMEBRE FE4E BT FEBMRE %A
NO K 4 AR JEIA 31 J== e HRtZ A A JNEAT
AR K 3 2 0:10:07. 2
(FiN VN 3 3 0:9:58.9
52 BOHE Mmoo 2 1 ij;f; 0:9:49.9 0:29:56. 0 1
B A X 2
R A A 3 3 0:9:55. 1
(T EE I 7 NI/ 2 2 0:10:42. 1
51 R S = 2 1 HARZE A 0:9:39.7 0:30:16. 9 2
| = R N 3 1 0:9:49. 2
H OB O Z 2 2 0:10:35. 0
59 Al H M A 1 3 PR - e R 0:11:13.8 0:31:38.0 3
JIm R A 3 1 0:9:34.6
B OHE & 3 2 0:10:35. 4
53 IEodH ERR 1 B HA 0:32:41.3 4
o mowg R 1 3 0:12:31.3

fn
Fn

W o T



B|AOE] 2BV a=TruRbr N —FEKRE AREH

BAfE R SERS14E1H26 H HiE B %
15 = S oV a7 NI 1
HRERHELR R % e

WEESE %4 BAd HERARE % AT

NO K v FAE ZENE BT & GIE A S N JIEAT
= k & M 1 1 0:10:41.0
s W ok E 2 3 0:10:52.9

56 o o R 1 I HB 0:32:43.7 5
7R S 1 2 0:11:09.8
% B oKk & 2 1 0:10:07.9
E OB =<5 2 3 0:12:30. 2

57 BogE R 2 2 FnzEB 0:12:30.6 0:35:08. 7 6
HAE B F 2 1 0:11:18.1
= =< B 2 2 0:10:43.7

54 i S 1 1 3 B AR B 0:13:22.6 0:35:24. 4 7
/R NI N 2 3 0:12:14.7
T % IE 4 1 2 0:11:48.2

58 e & H W 1 1 fpJE 0:11:30.0 0:35:32.9 8

W o T



B|AOE] 2BV a=TruRbr N —FEKRE AREH

BAMEH  “FRk314F1 H 26 H Hffrf & % IR
LA R e R
AR RAR R %
ReEBEE g4 BEM BB
NO K £ AR ENE AT & PP A EFHZA L JIEAE
Ao BBy 3 2 0:10:06.8
7 I R~ R 1 1 0:11:24.4
60 ¥ 2 fn 1 3 55 DXC DNF 0:21:31.2 N
/N & 2
MooE M A 1
55 X % #E K 1 FngEhA HEHME

fn
HE
Fn

W o T



B|AOE] 2BV a=TruRbr N —FEKRE AREH

BAfE R SERS14E1H26 H HiE B %
15 = S oV a7 NI 1
HRERHELR R % e

WEEBE HE4AE k4 HERARE ® AT

NO K v AR ENE BT I GIE A S N JIEAE
E W ¥ R 2 1 0:11:26.2
xOBP O E O 2 2 0:12:18. 4

73 XKoo Be % 2 3 Pt 0:11:57.8 0:35:42. 4 1
me FoE AR 3
oK B 2 1 0:11:35.3

72 H & 4 3 2 3 ggjéﬁi 0:13:00. 1 0:37:28.5 2
oW @ E 1 2 0:12:53.1
% EA3 3 1 0:11:22.5
N FE 2 3 DNF

71 w (S 1 2 55 DXC 0:16:02. 6 0:27:25. 1 L f

W o T



